
Filbyter Bridge

2011-11-12  Kval Östra - Rond 4, halvlek 2 Bricka 13-24
8 bord, 16 par. Antal brickor: 12. IMP över fältet.

Par Kontr Ut Resultat Poäng

13

[ JT93
] 864
{ 86
} QT75

[ A6
] T95
{ T52
} AKJ43

[ 852
] QJ732
{ Q73
} 92

[ KQ74
] AK
{ AKJ94
} 86

1 201 6N N +1 ]Q 1470       4 -4
3 203 6N S +1 [ J 1470       4 -4
4 204 6N S +1 [ J 1470       4 -4

101 301 6N N +1 }9 1470       4 -4
103 303 6N N +1 ]3 1470       4 -4
104 304 6N S +1 [ J 1470       4 -4
102 302 6N N = [8 1440       -4 4
2 202 6{ N = ]Q 1370       -20 20

Par Kontr Ut Resultat Poäng

14

[ K76
] 864
{ J9764
} Q9

[ AT9843
] 953
{ AKT
} A

[ 2
] KQJT7
{ 853
} KT82

[ QJ5
] A2
{ Q2
} J76543

101 301 4[ N +3 ]K 510       15 -15
102 302 4[ N +3 ]K 510       15 -15
1 201 4[ N +2 ]K 480       7 -7
2 202 4[ N +2 ]K 480       7 -7
4 204 4[ N +2 ]K 480       7 -7

103 303 4[ N +2 ]K 480       7 -7
3 203 4[ N +1 ] J 450       0 0

104 304 4} S = ]6 130       -58 58

Par Kontr Ut Resultat Poäng

15

[ KT5
] AK8
{ KQJ96
} A5

[ A432
] T9
{ T74
} QJ73

[ J86
] QJ54
{ 53
} T986

[ Q97
] 7632
{ A82
} K42

3 203 2N V = }Q -120 30 -30
103 303 2N V = }3 -120 30 -30
102 302 2N V +1 }7 -150 23 -23
1 201 2N V +3 ]T -210 10 -10

101 301 1N V +4 }Q -210 10 -10
4 204 3N V +1 [ 2 -430 -31 31
2 202 3N V +2 [ 2 -460 -36 36

104 304 3N V +2 [ 2 -460 -36 36

Par Kontr Ut Resultat Poäng

16

[ 62
] J86542
{ T4
} K85

[ AT8753
] AK93
{ A5
} Q

[ KQJ4
] ---
{ K872
} AJT64

[ 9
] QT7
{ QJ963
} 9732

2 202 1[ N +2 { 7 140       26 -26
1 201 2[ N = }A 110       19 -19
3 203 2[ N = }A 110       19 -19
4 204 3} Ö -1 [ 9 100       18 -18

104 304 4} Ö -1 [ 9 100       18 -18
101 301 2] N -2 }A -100 -21 21
103 303 3} Ö = [9 -110 -23 23
102 302 4[x N -2 }K -300 -56 56

Par Kontr Ut Resultat Poäng

17

[ KQ9862
] 96
{ Q65
} 72

[ T75
] KT43
{ 2
} AK854

[ AJ4
] AJ2
{ 873
} Q963

[ 3
] Q875
{ AKJT94
} JT

102 302 4] N = [A 420       67 -67
1 201 3[ V -2 }K 100       12 -12
2 202 2[ V -1 { 2 50       0 0
4 204 3[ V -1 }K 50       0 0

101 301 4[ V -1 }K 50       0 0
3 203 4{ S -1 [K -50 -19 19

103 303 4] S -2 }7 -100 -30 30
104 304 2[ V = { 2 -110 -30 30

Par Kontr Ut Resultat Poäng

18

[ A3
] QJ5
{ AT975
} AK5

[ QT865
] K9842
{ J4
} 6

[ 94
] A76
{ KQ83
} T743

[ KJ72
] T3
{ 62
} QJ982

2 202 3N Ö = }Q -400 10 -10
1 201 3N V +1 [5 -430 2 -2
3 203 3N V +1 }2 -430 2 -2

101 301 3N Ö +1 }8 -430 2 -2
103 303 3N V +1 [6 -430 2 -2
4 204 3N Ö +2 }9 -460 -6 6

102 302 3N V +2 [5 -460 -6 6
104 304 3N Ö +2 }Q -460 -6 6

Par Kontr Ut Resultat Poäng

19

[ 632
] AQT
{ A54
} KT96

[ 75
] K74
{ KJT963
} A5

[ AQ9
] J9852
{ 82
} QJ3

[ KJT84
] 63
{ Q7
} 8742

102 302 3] Ö -2 { Q 200       31 -31
2 202 2[ S +1 [ 3 140       17 -17
3 203 1N V -1 { J 100       9 -9
4 204 4] Ö -1 { Q 100       9 -9

101 301 4] Ö -1 { Q 100       9 -9
103 303 4] Ö -1 { Q 100       9 -9
104 304 4] Ö -1 ] 3 100       9 -9
1 201 4]x Ö = [3 -790 -93 93

Par Kontr Ut Resultat Poäng

20

[ KT84
] A7
{ Q
} JT9762

[ QJ9765
] K8
{ J743
} 3

[ 2
] T92
{AK9852
} KQ8

[ A3
] QJ6543
{ T6
} A54

4 204 3N V -3 ]K 300       74 -74
102 302 3] S -1 { Q -100 10 -10
104 304 3{ Ö = [A -110 10 -10
2 202 3{ Ö +1 ]Q -130 3 -3
3 203 3} V +1 ]K -130 3 -3
1 201 3[ N -2 { A -200 -11 11

101 301 2] S -2 { Q -200 -11 11
103 303 3N V +1 [Q -630 -78 78

Par Kontr Ut Resultat Poäng

21

[ 432
] AK64
{ T976
} 52

[ JT
] QJ983
{ AJ5
} K96

[ AKQ7
] T
{ KQ4
} QT843

[ 9865
] 752
{ 832
} AJ7

101 301 3N V -3 ]Q 150       41 -41
102 302 3N V -3 ]Q 150       41 -41
104 304 3} Ö -1 ]7 50       23 -23
4 204 2} Ö = ]5 -90 -5 5

103 303 1N V = ]Q -90 -5 5
2 202 2N V = ]8 -120 -12 12
3 203 1N V +1 ]Q -120 -12 12
1 201 3]x N -2 [K -500 -71 71

Par Kontr Ut Resultat Poäng

22

[ 92
] K754
{ A86
} AQ87

[ AJT3
] JT
{ KJ92
} 932

[ Q87
] AQ862
{ 7543
} J

[ K654
] 93
{ QT
} KT654

101 301 4] Ö -1 [5 100       42 -42
102 302 3] V -1 ] J 100       42 -42
2 202 3] Ö = ]3 -140 -2 2
3 203 2] Ö +1 {Q -140 -2 2
4 204 3] Ö = {Q -140 -2 2

103 303 3] Ö = [4 -140 -2 2
104 304 3] Ö = ]3 -140 -2 2
1 201 4] Ö = }3 -620 -74 74

Par Kontr Ut Resultat Poäng

23

[ JT76542
] J6
{ J
} 854

[ 983
] 9
{ KQT8643
} J9

[ K
] Q732
{ 975
} AQT73

[ AQ
] AKT854
{ A2
} K62

4 204 3N S +4 [ J 720       27 -27
102 302 4] S +1 [ J 650       12 -12
104 304 4] N +1 }A 650       12 -12
1 201 4] S = [ J 620       5 -5
2 202 4] S = { J 620       5 -5

101 301 4] S = [ J 620       5 -5
103 303 4] S = { J 620       5 -5
3 203 3] S +1 { J 170       -71 71

Par Kontr Ut Resultat Poäng

24

[ QT96
] A6
{ T
} KT9874

[ 8
] J9
{ KQJ532
} J653

[ 74
] KQT82
{ 974
} AQ2

[ AKJ532
] 7543
{ A86
} ---

2 202 4{ x N = { 4 510       77 -77
102 302 2[ S +1 { T 140       25 -25
101 301 2[ S = ]A 110       20 -20
103 303 3] Ö -1 [K 50       8 -8
3 203 2[ S -1 { T -50 -8 8

104 304 3} V = [8 -110 -20 20
4 204 5{ N -3 }A -150 -26 26
1 201 4}x V = [ 8 -510 -76 76

Plac Par Poäng Rond Namn Lag

1 201 3,17 266 Torbjörn Forsén - Tony Lindblom Kisa

2 102 2,38 200 Lars Lundqvist - Lena Adolfsson Las Vikas

3 101 1,38 116 Kent Hidsjö - Göte Olauson Kisa

4 304 0,90 76 Sven-Erik Österberg - Bengt Alriksson Västervik, Sheriff

5 2 0,89 75 Ulf Öhlund - Christoffer Järneström Västervik, Christoffer

6 303 0,87 73 Krister Retzman - Calle Lilliegren Gamleby

7 4 0,82 69 Sheriff Savas - Staffan Nilson Västervik, Sheriff

8 203 0,54 45 Elisabeth Eriksson - Rolf Ahlfeldt Västervik, Rolf

9 3 -0,54 -45 Marianne Johansson - Lars Lindström Gamleby

10 204 -0,82 -69 Sven Arne Hjalmarsson - Henry Svensson Hot Iron

11 103 -0,87 -73 Bierne Ekbrant - Lars Ohlman Västervik, Rolf

12 202 -0,89 -75 Simon Hult - Mats Wång Las Vikas

13 104 -0,90 -76 Lars-Inge Rehnström - Conny Kling Hot Iron

14 301 -1,38 -116 Kent Lundström - Gunnar Schäfer Överum, Gunnar

15 302 -2,38 -200 Jesper Zettergren - Jacob Westerberg Västervik, Christoffer

16 1 -3,17 -266 Mattias Forss - Gun-Britt Rindstål Överum, Gunnar


